EARAZROREIERT — 2 N—XBISY —F 201318318 () 12M@l)I[IB4H

(VAR E5EER B3= H5R—M (xwlw | mEmml - v ) w8
[A&4£] 17 :2,400,000 @ ~ 23 :720,000 @ . 33 :480,000  ~ 4 3#%:288,000 @ 5 7 :192,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o s FER :36. -1-1- X — NAAZ (1)
118113 NDBAINIAIL s 56.0 1(3_6)7 9.8 B (4_%7) AATIER]
R:FAIZTF—X B hUAITFRY— RS
> WY # o6 | BREEA 1:36.9 3-3-1-3 [39.8| — 6 521 | R=5 (1)
21711 HXYINT — 56.0 ) (+4) () BABFHS
RARYTIN— B A AL b S IPS
s pe N HEEAH : 01— — REEEAR (WA
3 SELT X o4 oy (17;32% 2-2-1-2 | 39.8 5 (4_831) e
L:7IhtEy b B:XPAOTTCVR Valllkse]
A EHB " _14-g- _ BE— (1]
4 5 eI E 4 6 5%% 1(.13/72.)0 14-14-8-10 | 39.5 2 <4+7:) Egl?% (J11es)
RTIRATFYEIN B:TAXE2—T1— FRE%RS
- s FHfE— :37. -11-11- . - WRE (iE)
5 AFVLATSy A 47 =% (1739770) 11-11-11-10| 39.4 7 (5_%7) E;EEEBH B
L:a14%xTIVY—F B:TI5A747Ny 7 A7LRAZX&y K
6 Ly Yyd—bEFal # 8 | ZTER (11:317/.23) 9-8-9-5 (39.8| — | 10 (5+747) igé; (1lies)
R:xAxNTT B:78 %> FHBE%E
4 | FPlBEKX 1:37.4 6-6-11-10 | 39.8 | — 4 452 | M (A1E)
; T7a4y b g 5.0 oy oy | SuEC Tk
LV RKYTYRIR BIT7RIETS "HET7—L
. £ . a5, — EER (KH)
3 SLGERT Y Y = G 1(/73{:;5 e e ’ ;‘j:) EARK
L:xy¥/ by THY BiaAXT4—T+1 BE7 7 — LA
— AN ipE ] :37. —7-9- — AEBEZE (1185
ol5lg|TA—TRST> e 0% 5T I U (e
L:v—NFAY>F— B:FXhFy R N 45035
- KEFE S :37. —5-6- . — \IE—EB (i##0)
ol o] ra57>n- Rk e
w14z B:FLSEID 1REE  #0°AQ
5 t 5 | EEAl 1:37.7 8-9-7-8 | 40.3| — 3 463 | IAZ (#045)
11157 J=R) D g 56.0'Ei (1/2) (-12) ﬁ%i%
RZAZHI KR B:T717H7+€R i &S
= S 4 5 | FAX 1:38.0 10-12-13-13| 40.4 | — 14 | 503 |EEHSB ()
12814 THTA—> v <54 (11/2) 1) | EEES
ROy 74T TINEIN B:EAFIXT)— FE SIS
- s FiBEL :38. -9—4— . - AR (KHF)
13 7012| 77 vFra—4%— ' B R B A (4625) AR
LA —FIhTx B:IRN—-T17h Kk —8l
5 . 4 6 | RiEEA 1:38.7 13-13-14-14| 40.5 | — 12 | 448 |EAEX (GEF)
1411 | T-Y—91> 5.0 21/2) Ly | EEE
L:TNhtEy b BTUT Y Y 21155
® 1—F—@EBIERL
1T=7r= 13,2,11,6,9,4,8,7,3,14,10,12,1,5
23—+ — 13,2,(6,11),9,4,8,3,(7,12) ,10,14,1,5
== (2,11,13),12,6,9,7,5,(3,8), (4,10) ,14,1
43—7F— |[13,2,11,6,(3,9),8,(7,12), (4,5,10) ,14,1
[ N5
B OB 13 9,530 | [ 71 K 11-13 9,670/ | | # E 7-8 17,550 | | 3E& | 2-11-13 145,910M
B B 13 2,180 2-13 11,810H e B 8-7 46,0604 3EE 13-11-2 947,170
1 450M 2-11 1,590H B & 11-13 52,430H
2 250M B H 13-11 137,650

ABICOVWTRDTEEERROODE. TR LIV,



